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L	
   =	
   6.022	
  ×	
  1023	
  mol-­‐1	
  
R	
   =	
   8.3145	
  J	
  K-­‐1	
  mol-­‐1	
   =	
   0.082057	
  atm	
  dm3	
  K-­‐1	
  mol-­‐1	
  =	
   1.98719	
  cal	
  K-­‐1	
  mol-­‐1	
  
kB	
   =	
   1.381	
  ×	
  10-­‐23	
  J	
  K-­‐1	
  
	
  
1	
  atm	
  =	
  101325	
  Pa,	
   1	
  bar	
  	
  =	
  100000	
  Pa	
  
1	
  m3	
  =	
  1000	
  liter	
  =	
  1000	
  dm3	
  
1	
  W	
  =	
  1	
  J	
  s-­‐1	
  
1	
  horsepower	
  =	
  745.6	
  W	
  
	
  
Thermodynamic	
  data	
  for	
  organic	
  compounds	
  (all	
  values	
  are	
  for	
  298.15	
  K	
  and	
  
1	
  bar)	
  
	
  

	
   ΔfHo	
  /	
  kJ	
  mol-­‐1	
   So	
  /	
  JK-­‐1	
  mol-­‐1	
   CP,m	
  /	
  JK-­‐1	
  mol-­‐1	
  

H2(g)	
   0	
   130.68	
   28.82	
  

N2(g)	
   0	
   191.61	
   29.13	
  

O2(g)	
   0	
   205.14	
   29.34	
  

CO(g)	
   −110.53	
   197.67	
   29.14	
  

CO2(g)	
   −393.51	
   213.74	
   37.11	
  

H2O(l)	
   −285.83	
   69.91	
   75.29	
  

H2O(g)	
   −241.82	
   188.83	
   33.58	
  

C(graphite)	
   0	
   5.74	
   8.527	
  

C2H5OH(s)	
   −277.69	
   160.7	
   111.5	
  

C6H5OH(s)	
   −165.47	
   144.0	
   221.2	
  

	
  


